Logical Aptitude Quiz 013 (Seating Arrangement)

Seating Arrangement
e The questions of Seating Arrangement are of a type where we use our understanding of
directions and make the given people sit according to the given conditions.
e When you look into a book or computer monitor, your right is considered as your east and left
as your west. Below the two directions is your south and above is north.
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1. A B, C D, E F GandH are sitting around a circle facing towards the centre. A is fourth to the left of
G. H is the immediate neighbour of C and of A. G is seventh to the right of B. C is third to the left of B
and is a neighbour of H. D is fourth to the left of F.

Who is facing H?

A) D
B) A
QE
D) B

2. A B, C D, EF GandH are sitting around a circle facing towards the centre. A is fourth to the left of
G. H is the immediate neighbour of C and of A. G is seventh to the right of B. C is third to the left of B
and is a neighbour of H. D is fourth to the left of F.

If A is sitting in North direction with respect to the centre, and all the others are equally distanced from
each other, who is sitting in the East direction?

A) E
B) D
Q H
D) C



3.A B, C D, EF GandH are sitting around a circle facing towards the centre. A is fourth to the left of
G. H is the immediate neighbour of C and of A. G is seventh to the right of B. C is third to the left of B
and is a neighbour of H. D is fourth to the left of F.

Which among the following is definitely false?

A) D and F can face each other
B) D and F can be neighbours
C) D and E can be neighbours
D) F and G can be neighbours

4. A, B, C, D, E F, G and H are sitting around a circle facing towards the centre. A is fourth to the left of
G. H is the immediate neighbour of C and of A. G is seventh to the right of B. C is third to the left of B
and is a neighbour of H. D is fourth to the left of F.

Who is sitting to the immediate left of B?

A) B
B) G
QD

D) None of these

5.A, B,C D, EF GandH are sitting around a circle facing towards the centre. A is fourth to the left of
G. H is the immediate neighbour of C and of A. G is seventh to the right of B. C is third to the left of B
and is a neighbour of H. D is fourth to the left of F.

A is second to the right of

A) D
B) H
0 C

D) Data inadequate

6. In a circular arrangement of eight persons, B is second to the right of G and second to the left of the
person who is sitting 4th to the left of G. D is third to the right of B and is sitting between E and F. A is
sitting diagonally opposite to C but is not sitting between F and B. It is also known that only one person
is sitting between B and F. If we make the position of A as the first position, ‘H" is

sitting at an odd numbered position.

Who sits to the immediate left of B?
A) G
B) F
Q) D
D) H

7. In a circular arrangement of eight persons, B is second to the right of G and second to the left of the
person who is sitting 4th to the left of G. D is third to the right of B and is sitting between E and F. A is



sitting diagonally opposite to C but is not sitting between F and B. It is also known that only one person
is sitting between B and F. If we make the position of A as the first position, ‘H" is
sitting at an odd numbered position.

What is the position of H with respect to F?

A) To the immediate right
B) Third to the left
C) Second to the left

D) Second to the right

8. In a circular arrangement of eight persons, B is second to the right of G and second to the left of the
person who is sitting 4th to the left of G. D is third to the right of B and is sitting between E and F. A is
sitting diagonally opposite to C but is not sitting between F and B. It is also known that only one person
is sitting between B and F. If we make the position of A as the first position, 'H' is

sitting at an odd numbered position.

Four of the following five are alike in a certain way based on their positions in the given arrangement and
so they form a group. Which is the one that does not belong to the group?

A) AD
B) HG
C) EF
D) BF

9. In a circular arrangement of eight persons, B is second to the right of G and second to the left of the
person who is sitting 4th to the left of G. D is third to the right of B and is sitting between E and F. A is
sitting diagonally opposite to C but is not sitting between F and B. It is also known that only one person
is sitting between B and F. If we make the position of A as the first position, ‘H" is

sitting at an odd numbered position.

Four of the following five are alike in a certain way based on their positions in the given arrangement and
so they form a group. Which is the one that does not belong to the group?

A) AD
B) HG
C) EF
D) BF

10. In a circular arrangement of eight persons, B is second to the right of G and second to the left of the
person who is sitting 4th to the left of G. D is third to the right of B and is sitting between E and F. A is
sitting diagonally opposite to C but is not sitting between F and B. It is also known that only one person
is sitting between B and F. If we make the position of A as the first position, ‘H" is

sitting at an odd numbered position.

Which of the following pairs has the first person sitting to the immediate right of the second person?

A) BH
B) FD



C) CF
D) EA



Answer Keys

Question Answer Question Answer
1 D 6 D
2 A 7 B
3 B 8 B
4 C 9 B
5 A 10 A



